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e R B X & F
3 0 2 9K 18 A AT4ELEE
IR 2 & &t 55,099 50,518 4,582 9.1%
CE JVE 40,031 39,033 999 2.6%
PPN T 26,564 25,826 738 2.9%
B |5 RAREE 12,201 12,015 185 1.5%
CE D RIE 14,883 11,282 3,600 31.9%
53 F 4 185 203 AN, A8.6%
RRAAE 56,926 56,045 881 1.6%
EXER 53,587 53,024 563 1.1%
HW5E 24,697 24,283 414 1.7%
EarT 13,959 13,5642 417 3.1%
5 B 8,477 8,643 A165 A1.9%
L At 8 0 6,083 6,113 A30 A0.5%
EXNER 2,908 2,871 37 1.3%
EES 431 149 281 188.3%
R X = A1,827 A5,528 3,701 —
# ¥ I X A1,581 A5,581 3,999 —
EFEINSTLLE * 74.7 73.6 1.1 —
AN H * 97.2 90.0 7.2 —
*ERENEHR=EFNE-EXEAx 100
*BENZLR= (ERINE+ERMNE) — (EXBA+EXNEA) x100
* RNDOHKEFZNENERBAALTND =0, SHEF—BLAVNMEENHY T,
2 —BREFHEAE (3F+4%F)
e m R E X & F
30fE 294K 18R k3¢
IEREAE 12,587 9,202 3,385 36.8%
4 FRAE 2,306 1,951 355 18.2%
BAZSE 14,894 11,164 3,740 33.5%
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